

Bill To

CHIEF EXECUTIVE OFFICE
 CENTRAL SVCS/PURCHASING DIV.
 841 LOW GAP ROAD
 UKIAH, CA 95482
 Phone: 707-234-6051



COUNTY OF MENDOCINO
 ORIGINAL

Purchase Order

Fiscal Year 2021

Page: 1 of 2

THIS NUMBER MUST APPEAR ON ALL INVOICES,
 PACKAGES AND SHIPPING PAPERS.

Purchase Order #

59719

Delivery must be made within doors of specified destination.

Vendor

TELEDYNE INSTRUMENTS INC
 9480 CARROLL PARK DR
 SAN DIEGO, CA 92121

Ship To

AIR QUALITY
 306 E. GOBBI STREET
 UKIAH, CA 95482
 Phone: 707-463-4354

VENDOR PHONE NUMBER	VENDOR FAX NUMBER	REQUISITION NUMBER	DELIVERY REFERENCE	
		285		
DATE ORDERED	VENDOR NUMBER	DATE REQUIRED	FREIGHT METHOD/TERMS	DEPARTMENT/LOCATION
02/19/2021	31582			AIR QUALITY
NOTES				

QUOTE #CCIQ24525-04

ITEM #	DESCRIPTION / PART #	QTY	UOM	UNIT PRICE	EXTENDED PRICE
1	QTY:2 MODEL T400 UV ABSORPTION OZONE ANALYZER\par PART NUMBER: 070400000\par MANUFACTURER: TELEDYNE API\par INCLUDES: NUMAVIEW SOFTWARE, INTERNAL PUMP, PERTICULATE FILTER, RS-232 OUTPUT\par DUAL RANGES AND AUTO-RANGING\par RANGES: 0-100 PPB TO 10 PPM\par 2 YEAR WARRANTY\par TAPI CUSTOMER SERVICE SUPPORT BY PHONE, FAX OR EMAIL FOR THE LIFE OF THE INSTRUMENT\par	2.0	EA	\$9,450.00	\$18,900.00
2	QTY:2 OPTION 64A - USB COMM PORT\par PART NUMBER: 067600100\par MANUFACTURER: TELEDYNE API\par	2.0	EA	\$155.00	\$310.00
3	QTY:2 OPTION 42A - EXPENDABLES KIT FOR ANALYZER, ONE YEAR OPERATION\par PART NUMBER: 006190200\par CONTAINS:\par 009690100 AKIT, TFE FLTR, 47MM, (FL6) (30)\par FL0000001 FILTER, SS (TWO)\par HW0000020 SPRING (TWO)\par OR0000001 ORING, SAMPLE FLOW (FOUR)\par PU0000110 REBUILD KIT, PUMP, KNF, N811/PU4292 (FOR: PN07748XXXX)	2.0	EA	\$358.00	\$716.00
4	8.875% SALES TAX	1.0	EA	\$1,768.43	\$1,768.43

CONTINUED ON
 NEXT PAGE

Bill To

CHIEF EXECUTIVE OFFICE
CENTRAL SVCS/PURCHASING DIV.
841 LOW GAP ROAD
UKIAH, CA 95482
Phone: 707-234-6051



COUNTY OF MENDOCINO
ORIGINAL

Purchase Order

Fiscal Year 2021

Page: 2 of 2

THIS NUMBER MUST APPEAR ON ALL INVOICES,
PACKAGES AND SHIPPING PAPERS.

Purchase Order #

59719

Delivery must be made within doors of specified destination.

Vendor

TELEDYNE INSTRUMENTS INC
9480 CARROLL PARK DR
SAN DIEGO, CA 92121

Ship To

AIR QUALITY
306 E. GOBBI STREET
UKIAH, CA 95482
Phone: 707-463-4354

VENDOR PHONE NUMBER		VENDOR FAX NUMBER		REQUISITION NUMBER		DELIVERY REFERENCE			
				285					
DATE ORDERED		VENDOR NUMBER		DATE REQUIRED		FREIGHT METHOD/TERMS		DEPARTMENT/LOCATION	
02/19/2021		31582				AIR QUALITY			
ITEM #	DESCRIPTION / PART #			QTY	UOM	UNIT PRICE	EXTENDED PRICE		
5	FREIGHT			2.0	EA	\$100.00	\$200.00		

ACKNOWLEDGMENT

Partial Order

Purchase Order Complete

Total Ext. Price	\$21,894.43
Total Freight	\$0.00
Total Discount	\$0.00
Total Credit	\$0.00

Purchase Order Total \$21,894.43

PO Requisitioner: Kelly R Ford

Receiver

Date

Bill To
 CHIEF EXECUTIVE OFFICE
 CENTRAL SVCS/PURCHASING DIV.
 841 LOW GAP ROAD
 UKIAH, CA
 95482

Requisition 00000285-00 FY 2021

Acct No: 3270-00-000-0327-000-00-000000-000000-864370-
 Review:
 Buyer: rauja
 Status: Allocated

Vendor
 TELEDYNE INSTRUMENTS INC
 9480 CARROLL PARK DR

 SAN DIEGO, CA 92121

Ship To
 AIR QUALITY
 306 E. GOBBI STREET

 UKIAH, CA 95482

Kelly Ford
2.19.21

Date Ordered	Vendor Number	Date Required	Ship Via	Terms	Department
02/18/21	031582				AIR QUALITY

LN	Description / Account	Qty	Unit Price	Net Price
Vendor Sourcing Notes				
001	QUOTE #CCIQ24525-04 QTY:2 MODEL T400 UV ABSORPTION OZONE ANALYZER PART NUMBER: 070400000 MANUFACTURER: TELEDYNE API INCLUDES: NUMAVIEW SOFTWARE, INTERNAL PUMP, PERTICULATE FILTER, RS-232 OUTPUT DUAL RANGES AND AUTO-RANGING RANGES: 0-100 PPB TO 10 PPM 2 YEAR WARRANTY TAPI CUSTOMER SERVICE SUPPORT BY PHONE, FAX OR EMAIL FOR THE LIFE OF THE INSTRUMENT Vendor Item No.: 070400000	2.00 EA	9450.00000	18900.00
1	3270-00-000-0327-000-00-000000-000000-864370-			18900.00
002	QTY:2 OPTION 64A - USB COMM PORT PART NUMBER: 067600100 MANUFACTURER: TELEDYNE API Vendor Item No.: 067600100	2.00 EA	155.00000	310.00
1	3270-00-000-0327-000-00-000000-000000-864370-			310.00

Bill To
 CHIEF EXECUTIVE OFFICE
 CENTRAL SVCS/PURCHASING DIV.
 841 LOW GAP ROAD
 UKIAH, CA
 95482

Requisition 00000285-00 FY 2021

Acct No:
 3270-00-000-0327-000-00-000000-000000-864370-
 Review:
 Buyer: rauja
 Status: Allocated

Page 2

Vendor
 TELEDYNE INSTRUMENTS INC
 9480 CARROLL PARK DR

Ship To
 AIR QUALITY
 306 E. GOBBI STREET

SAN DIEGO, CA 92121

UKIAH, CA 95482

Date Ordered	Vendor Number	Date Required	Ship Via	Terms	Department
02/18/21	031582				AIR QUALITY
LN	Description / Account	Qty	Unit Price	Net Price	
003	QTY:2 OPTION 42A - EXPENDABLES KIT FOR ANALYZER, ONE YEAR OPERATION PART NUMBER: 006190200 CONTAINS: 009690100 AKIT, TFE FLTR, 47MM, (FL6) (30) FL0000001 FILTER, SS (TWO) HW0000020 SPRING (TWO) OR0000001 ORING, SAMPLE FLOW (FOUR) PU0000110 REBUILD KIT, PUMP, KNF, N811/PU4292 (FOR: PN07748XXXX) Vendor Item No.: 006190200	2.00 EA	358.00000	716.00	
1	3270-00-000-0327-000-00-000000-000000-864370-				716.00
004	8.875% SALES TAX	1.00 EA	1768.43000	1768.43	
1	3270-00-000-0327-000-00-000000-000000-864370-				1768.43
005	FREIGHT	2.00 EA	100.00000	200.00	
1	3270-00-000-0327-000-00-000000-000000-864370-				200.00

Bill To
 CHIEF EXECUTIVE OFFICE
 CENTRAL SVCS/PURCHASING DIV.
 841 LOW GAP ROAD
 UKIAH, CA
 95482

Requisition 00000285-00 FY 2021

Acct No: 3270-00-000-0327-000-00-000000-000000-864370-
 Review:
 Buyer: rauja
 Status: Allocated

Page 3

Vendor
 TELEDYNE INSTRUMENTS INC
 9480 CARROLL PARK DR

Ship To
 AIR QUALITY
 306 E. GOBBI STREET

SAN DIEGO, CA 92121

UKIAH, CA 95482

Date Ordered	Vendor Number	Date Required	Ship Via	Terms	Department
02/18/21	031582				AIR QUALITY

LN Description / Account	Qty	Unit Price	Net Price
Requisition Link			
Requisition Total			21894.43
***** General Ledger Summary Section *****			
Account		Amount	Remaining Budget
3270-00-000-0327-000-00-000000-000000-864370-		21894.43	.00

Authorized By: _____ Date: _____
 Signature



**QUOTATION
Teledyne API**

Quote #	CCIQ24525-04
Date	2021.02.12
Valid	30 Days
Delivery	4-6 weeks
Payment	NET 30
Shipping	Pre-Paid & Added
FOB	Factory
Rep	Marty Hyland

Quote To	Please Issue PO To
Mendocino County AQMD Warren Massie 306 E Gobbi St Ukiah CA 95482-5511	Teledyne Instruments, Inc. dba Teledyne API 9970 Carroll Canyon Road San Diego CA 92131 Toll Free (844) 880-AHOY AHOY@ClipperControls.com
Project	

Teledyne API Model T400 UV Absorption O3 Analyzers without IZS

Item	Qty	Description	Unit Price	Ext Price
1	2	Model T400 UV Absorption Ozone Analyzer Part Number: 070400000 Manufacturer: Teledyne API Includes: NumaView™ Software, Internal Pump, Particulate Filter, RS-232 Output Dual ranges and auto-ranging Ranges: 0-100 PPB to 10 PPM 2 Year Warranty TAPI Customer Service support by phone, fax, or email for the life of the instrument	\$9,450.00	\$18,900.00
2	2	Option 64A - USB Comm Port Part Number: 067600100 Manufacturer: Teledyne API	\$155.00	\$310.00
3	2	Option 42A - Expendables kit for analyzer, one year operation Part Number: 006190200 Contains: 009690100 AKIT, TFE FLTR, 47MM, (FL6) (30) FL0000001 FILTER, SS (two) HW0000020 SPRING (two) OR0000001 ORING, SAMPLE FLOW (four) PU0000110 REBUILD KIT, PUMP, KNF, N811/PU4292 (For: PN07748xxxx)	\$358.00	\$716.00
4		SubTotal		\$19,926.00
5		8.875% Sales Tax		\$1,768.43
6	2	Estimated Freight	\$100.00	\$200.00

Item	Qty	Description	Unit Price	Ext Price
------	-----	-------------	------------	-----------

Total \$21,894.43

Quotation Notes (unless specified otherwise above)

1. Sales or Excise Tax is not included.
2. Shipping Charges are not included.
3. Prices are applicable only to quantities shown.
4. Teledyne API terms & conditions of sale apply:
http://www.teledyne-api.com/pdfs/General_Terms_and_Conditions_of_Purchase.pdf
5. Fees charged for cancelled or returned orders.
6. Sale is subject to compliance with US Export Control laws.

Thank you for this opportunity, and we look forward to supplying you with these quality products.

Marty Hyland

Engineer

Clipper Controls Inc.
660 Bercut Drive
Sacramento CA 95811
Toll Free (844) 880-AHOY